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Assomption
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Every flow that we consider

is a Nettoflow
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Residual network with respect to a
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Various flow type , knocks

• ⑤ t ) - flows :

by ( s ) = - but) ,

b@ I --of vest

•
Circulation

by lo ) - o tu EV

• general balance ,

only require [ by@1=0
REV

• bounds and costs on vertices

enemies .

#w )
•

o



÷

÷÷¥÷÷
"



Eliminating lower bounds

example of when lower
bounds

are relevant :

if we insist on
certain

arcs being und
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Conclusion we can eliminate
-

all lower bounds in time
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General balances → ⑤tt - flows
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Every feasible flow x in N

corresponds to a flow I in N
and conversely and Ex = ETI
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